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QUESTION 1

What are two ways to create custom reports on the data In Profitability and Cost Management?

A. Import report templates from the Download link in the Settings menu and customize them for your application.
B. Create forms In Profitability and Cost Management that can be displayed in dashboards.

C. Create queries In Profitability and Cost Management that open in Smart View when you run them.

D. Create formatted reports in Financial Reporting Web Studio.

Correct Answer: AC

QUESTION 2

Assume the computer hardware supports parallel calculation. Given these two rule sets, in what order will the rules be
calculated?

Rule Set A, Sequence = 1, Execution = Parallel

Rule 1, Sequence = 1
Rule 2, Sequence = 2
Rule 3, Sequence = 2
Rule Set B, Sequence = 1, Execution = Parallel
Rule 4, Sequence = 1
Rule 5, Sequence = 1
Rule 6, Sequence = 2

A. Rule 1, Rule A, and Rule 5 will run In parallel; then Rule 2, Rule, 3, and Rule 6 will run in parallel (two separate
calculation steps).

B. Rule 1; then Rule 2 and Rule 3 will run in parallel; then Rule 4 and Rule 5 will run in parallel; then Rule 6 (four
separate calculation steps).

C. Rule 1, Rule A, and Rule 5 will run in parallel while Rule 2, Rule 3, and Rule 6 also run in parallel (one calculation
step).

D. Rule 1; then Rule 4 and Rule 5 will run in parallel; then Rule 2 and Rule 3 will run in parallel; then Rule 6 (four
separate calculation steps).

Correct Answer: B

QUESTION 3
Which Is NOT a valid Point of View (POV) state?
A. Archived

B. Final
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C. Published
D. Draft

Correct Answer: A

QUESTION 4

Which three statements are valid about data load mappings In Data Management?

A. Data Management processes mappings from left to right with Explicit processed first.
B. Special characters * and ? can only be used in the Source Value expression.

C. Mappings can be imported from Excel.

D. Data load mapping definitions for every dimension are required In Data Load Mappings except for Period and
Category.

E. If the source member matches the target member exactly, no mapping definition Is required for that dimension.

Correct Answer: ADE

QUESTION 5

Your Profitability and Cost Management Cloud application contains a product dimension with 150 products. You\\'ve
received a dimension data file containing only a list of 10 new products that need to be added to the current product
dimension. You use the file to import the new product members, using the Update Dimensions option in the Profitability
Application Console.

Which result describes what will happen?

A. The dimension update fails with errors and no changes are made to the product dimension.

B. The 10 new members are appended to the bottom of the existing product dimension.

C. The product dimension is replaced by the contents of the update file; only the 10 new members reside in the product
dimension after the update.

D. The 10 new members are merged Into the product dimension and sorted alphabetically.

Correct Answer: C
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